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More Practice: Geometric Sequences

What are the next 3 terms in the sequence and find the common ratio for the sequence:

1. 6 12,24, H®, 96, 92 Common ratio= 7
2. 6,1.8,0.54, .\‘01, 9“%‘? .O\\‘\‘c’B Common ratio = O.3
3. 5,-10,20, “40 R0, =10 Common ratio= =2

Write the first four terms of the given sequence:

4. a,=05-2m"1 0.5, 1, 2,4
S am=300 303, 003, 0.003

Wirite the explicit formula for the given sequences:
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6.7,49,343,.. (Qa= I~ 177"
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7' .?i,}.,." a ~ _-‘- 3“\“\
w2, "T 63

8. 0.46,0.92,1.84,.

NENIC IR

Find the given term of the geometric sequence)
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9. a;,=3r=4n=8 O&a Y q qu-’: R. }(“38‘-( :V.ﬁLIQ,LS-a

10. a, = 06,r=3,n=17 Q,9~ 0.6 .3(‘7-') ENoNA 3”': 0. G(NB 5%’721)
25 818 032 G

Mo =5r=—6n=12 Qez B5¢-6)" = §(-6) = 5+(-342,747 osc)
= -\eta 185 B0,

The given number is which number in the given sequence?

et Hi94304 = 4" ! |
12. 20971520,a, = 5(4) lea4 19430
20971520 = 5(4 n -l -] - - _3__...__3_."
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13. 11468.8,a, = 0.7(2)*? Se M-l = ” J :’h': IZ
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